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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7

BfE) | GEBERTIC (7)) | EBRE (EA/#K) | EREE (B/R) | X8 EFE

08:35 278 150.0 2.583 5| FHA@08:35 KENFEF (RAfEEIEE)
09:30 278 150.0 2.583 | FiHfe09:30 KEFEF (KRFERES)
10:35 278 150.0 2.583 5| FEAe10:35 KEIEFE CGRAFEESE)
11:30 278 150. 0 2.583 E|  FaHA@11:30 KEFEF (REBMERE)
12:25 278 150.0 2.583 5| FHfe12:25 KEEF (KAERESE)
13:20 278 150. 0 2.583 E(  FiHRe13:20 KREFEF CGRAMEREEE)
14:15 278 150. 0 2.583 E|  FiHRe14:15 KREIEF (GRFAEREIEE
15:15 278 150.0 2.583 | FHAe15:15 KHEF (KAERESE)
16:30 278 150.0 2. 583 5| FEAe16:30 KEFEFE CGRAMFESE)
2it] 2502.0 (97%) 1350.0 3203 %EC: 2080.0, PH: 6.0

RE X B TRECHUR B oK.

#[EKECE (1860.0 vs 3220.0) 35
RER B HEREC/PHIE Rk, AT RERNIHRELR SR
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P3-7

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

07:45 273 150. 0 2.583 E|  {Ri1ge07:45 B3h (RFE{EREE)
08:40 273 150.0 2.583 = {RRiB008:40 B (FRFAEEE)
09:50 273 150.0 2.583 = RRiB009:50 Bz (REAEEE)
10:50 273 150. 0 2.583 5| {Ri%@10:50 B3 (RAERSE)
12:05 273 150.0 2.583 =l {Rige12:05 B3 (RAERSE)
12:55 273 150.0 2.583 S| {Rige12:55 B (REAERSE)
13:40 273 150.0 2.583 (£=| {Ri%e13:40 B3 (REAEDSE)
14:25 273 150.0 2.583 (Z=| 1Ri&e14:25 Bzh (RAEHRSE)
15:20 273 150.0 2.583 (Z=| 1Ri%@15:20 B (RAEERSE)
16:25 273 150. 0 2.583 |Z=| BRige16:25 Bz (RAEREE)
24t 2730.0 (100%) 1500. 0 EHKEC: 2080.0, PH: 6.0

R GERRETC (600) 57EA (278. 0) 1N, Al REH T % AREERS %2 X ER
2RI\ L PRIERE324. 0 ml.
#[EKECE (1907.0 vs 3460.0) 5
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P3-7

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e

09:35 273 150. 0 2.583 |Z=&| 1BRi&e09:35 Bz (RAERE)
10:35 273 150.0 2.583 |Z=| {Ri&e10:35 Bz (REERSE)
11:35 273 150.0 2.583 FA| {Ri%@11:35 Bz (GRAERE)
12:55 273 150.0 2.583 FA| 1Bzi%@12:55 B3h (RABIERSE)
15:15 273 150.0 2.583 FH| {Ri%e15:15 Bl (RAERESE)
2it]1365.0 (5%) 750.0 32 KEC: 2080.0, PH: 6.0

##[EKECE (2007.0 vs 3837.0)d5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=64 (2025-06-01)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-7

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

06:05 278 150.0 2.583 FA| 1B2i%@06:05 B3zh (kB{ERESE)
07:05 278 150. 0 2.583 FA| {Ri%@07:05 Bz (GkAMEEE)
08:25 278 150.0 2.583 FA| {Ri%@08:25 Bz (RAMEEE)
10:00 278 150. 0 2.583 FA| 1E2i%@10:00 B3h (kAIEREE)
11:40 278 150.0 2.583 FE| 1Ri&@11:40 B (RFAERESE)
14:45 278 150.0 2.583 [/flE| 1Rige14:45 Bz GRAERSE)
Bit]1668.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0

FEREHERE STEELRF (179.0

ERIASSFRIERL147.0 ml.

#[EKECE (2087.0 vs 4097.0) 5

147.0), AIEERT—@E XA 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=63 (2025-05-31)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-7

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

06:10 278 150.0 2.583 FA| 1BRi%@06:10 B3h (KAIEREEE)
07:10 278 150. 0 2.583 FA| 1B2i%@07:10 B3h (kAR
08:30 278 150.0 2.583 BH| 1Bi%@08:30 Bzl (RAERE)
10:10 278 150.0 2.583 FA| 1BRi%@10:10 B3h (RAERSE)
11:25 278 150.0 2.583 FR| 1Bi%@11:25 B3h (kAEREE)
12:15 278 150.0 2.583 FA| 1BRi%@12:15 Bzh (GRAERSE)
13:10 278 150.0 2.583 FE| 1BRi&@13:10 Bzh (GRAEREE)
14:25 278 150.0 2.583 FA| {Ri&@14:25 Bz (GGRAERE)
16:10 278 150.0 2.583 FA| 1B2i%@16:10 B3h (RkA{EREE)
21t+]2502.0 (97%) 1350. 0 32903 %EC: 2080.0, PH: 6.0

FHERECE (2220.0 vs 4193.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=62 (2025-05-30)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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